5.0—17.16in

.740in
[18.8mm]

Wrench

[127-436mm] -
J3

0—8.85in
fae———— 0—-225mMm ——— |
J1

#

PR

4.6L6in

[117.5mm)]
OAH

2.874in
[73mm)]

|

17.244in

[438mm] o
19.449in

[494mm] -
OAL

?

-

5.984in

e——— [152mm] ——

JW

3.875in
— [98.4mm] |

M12x1.75
/v43mm

.937in
[23.8mm]
. 9.055in
7.677in
[230mm]
[195mm)] OAW
\

Related Parts

05-0107 Toe Clamps

05-0108 Stud Bolt M12x1.75x75

05—0094 Flange Nut

05—-0096 T—Slot Nut

05-0095 16mm Alignment Keys

05-0099 Alignment Key Screws M6x1.0x12

[ 1) > 7 /\II/




05-0002 Assembly

PN Description Qty

05-0002 HMV-6F-08 1
Sheet Metal Cover 1
Wrench: Silver Handle 1
Clamping Kit:

05-0107 Toe Clamps 2

05-0108 Stud Bolt 2

05-0094 Flange Nut 2

05-0096 T-Slot Nuts 2
Keyway Kit:

05-0095 Alignment Key: 16mm 2

05-0099 BHCS 2

05-0002 Additional Accessory Kits

Item: PN: Product Name Description

1 Jaws:
05-0025 HMVJ-61S 6" WIDE, 1" THICK, STEEL
05-0026 HMVJ-61.5S 6"W, 1.5"D, 2"H, STEEL
05-0027 HMVJ-62S 6"W, 2"D, 2H" STEEL
05-0028 HMVJ-61A 6"W, 1"D, 2"H ALUMINUM
05-0029 HMVJ-61.5A 6"W, 1.5"D, 2"H ALUMINUM
05-0030 HMVJ-62A 6"W, 2"D, 2"H ALUMINUM

2 Clamping Kit: 05-0110
05-0107 Toe Clamps TOE CLAMP 20MM
05-0108 Stud Bolt M12 X 1.75 X 75MM
05-0094 Flange Nut M12 X 1.75
05-0096 T-Slot Nuts M12, 16 MM

3 Keyway Kit: 05-0112
05-0095 Alignment Key: 16mm |16 MM X 9.9MM X 25MM
05-0099 BHCS M6 X 12MM




